7}‘%"1 %jku:

iF-15 1

=g 50001551 ¢ LER2841650
WPEA T IR

&35 L T112175%48

&+ 545 en87025@email. cheg. gov. tw

L2 AR
#Fe P ¢ EARIN0E27 4P
e FEH }"T?r%‘%”“ 511000458435~
xﬁ‘?vlj . {{wé’ %
BEZf2R l’}:l—- ¢ i Hp ol
LR A yHEE A (F) B HEE A(RY ) B RS B RS TRARE A2 A X
i B (58T 4h)
gt AREFMFHAPEITE > UBI9F ER F25HDRE
PoFT R yE e 1108 R RGARBEE S T3iRE
S 5PAMEY AR -
S Y26
- ~ iR ETICI0EZ2Y 3P ATE SR ~ 109107 19P FrrtF
5109037503755 & (37 )34 o
S RBRTMAL S FOBUT FRui4p B > 110£20
22P 21098 # R 5 - FHRF P > g § K52 yHLH 7%
T4 FrBE:iH% 5 i
A EyEEdpse 110 FiEa RSP RF(110#22 18p 227 21

n

z~ﬁﬁ%@:a%i%v@¢ﬁmiﬁﬁ»é\ﬂ@k»
S RIERH PR 2 G A AL T(F R 2 p R

PRIERE  U=2:110/02/04

b

|+
w
b

¥ 1

il



ZE-BI U s EFREEZE- PR DIR)E SHRS
igt,@]\:‘ /Jé‘fi o
~110E FEEARRE ST p FIELE R AR T EAT
(= )i 110E27 5p (AT )w e if4i 95 % PEE 2 B L ¥ iF
BPIRE O NAAFED AR T AMEp o ap T3
EEHyp 75 IR AL S > T oy
FARR X E 40110222 9p 227 17p =912 T =4
pr( FIpE ) D F AR BE X o
(Z)3FFad AU EF R L wod EH B BT

RYFEA g P n L o FRACRRREEA G
FomFeRri XL EdE S B 3109827 5P
(BT )R> HP 2 e pPHE 250

Kw o FRERPPEFARE X A EO AL L PR

B AVFRFBEFARE X LD FLE AN FARE X
Eyel® > ko FF 109225 (A8 T HRT A
(7 A fAye s (0471121758 » $548) » %3 p 7%
B2 FETEPET A g NER AT RE -

*

o110 E3 1A e )wik ey ict 842
AR R (R L L ﬁ%)%"i iﬁf(%?@%ﬁfé
) B GREP TRARE SRR - E o
(I )7E2 R A 5R A 1092107 199 M3 5
109037503755 o 432 o
= ~110# FEFAGE X HELET R AP ITE T ARLT
(- )& Fre % T Ebr B S G 109827 9p (B = )t

il

|+
w
il

¥ 2

|$§q-:ﬂ1
B WMol




Py
e B

10 E T AR (L FIER )N LR B X Tl
4279p 220 17p 291 T EAPF(E R P IR )T
ﬂ?ﬁ%%%%o
(Z)F4mR % ‘ﬁ'—qﬁ ST R SVE ‘il R - OSER L
A~VL¢E£1
(‘)Wﬁlﬁﬁ%ﬁ%fWTCﬁiﬁiwlmEZESBﬁé.
2) o
(Z ) E2p 78 2 - P (B> 110#827 5p %
) e
(223 PR (ML AL > 110#22 5p w8 ) o
(2 ) E4p et B 2 (BRAA > 252212010973
AL ) o
(T ELp 788 5 53 1A Girp 778 F54 5 #hin
1~ PRAPM TR i Ea PR B F D AT i
Booak 50055 10 B EEL1EL) o
Lotk T110= REFAn® X p ored £ (RV)) ~ p veped
%(Wﬂ)‘éﬁ%%ﬂé?ﬁiﬁﬁiﬁﬁ%‘f%*ﬁ**
o T DA RRT BT kA AR/ FhE T /R
P/ERAPRET Y R AT o

2
B

LIABLRALE LELANLS
A

~ % lzi/w\é] ﬁ AT IR A ? £ 4

—\

$ 3T 4

b

|+
w
b



